CHEMIST IN TAMIL NADU INDUSTRIES
SUBORDINATE SERVICE

The first stage in the development of a concept is
a. Reading b. Questioning

c. Sensory exploration  d. Reasoning

e. Answer not known

HHHSH aUeTTFFUIGT (LpHeL Hlenev

a. aurdHHe0 b. afem GslL6v

C. Yovell SympoungmuisFd)  d. smyewid smemied

e. alewL OFflwalsensy

The UN conference of Environment and development is popularly
known as :

a. Montreal protocol b. Basel conference

c. Kyoto protocol d. Earth summit

e. Answer not known

FMMIFGO60 1oBmId Gobumt (héhaTer £.6M. MHTH  LIFL6eOTS

o160 DIMLPSHBLILIBH MBS

a. e fwed Oppi(wens b. Guged THTH

c. &SBwm GLr QBBipem® d. yd o &4 wieErH

e. alewL OFflwalsoensy

The Sanyasi Andolan was the earliest uprising against British rule. It
broke out in

a. Madras b. Delhi
c. Kashmir d. Bengal

e. Answer not known

SRV S Fb@G HITE (PpFHeT (PpHedled 61(WhS FepluiTd SieT6L Teved
SHenTFd Cxpmeius @)L L1b

a. Qeitener b. G606l C. &madfT d. eumIsmeND

e. alemL OFHflwealevenso
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is responsible to produce desirable effects on public
Revenue and expenditure; and also responsible to avoid undesirable
effects on the national income, production and employment.
a. Fiscal policy b. Money policy
c. Macro Economic policy d. Fiscal and monetary policy
e. Answer not known

G OUTEHl eumHaUTU! LOBBID OFeve|dH SHILLD ElweuBnied
al(BbUSHBS  aleneaHemeT HHAUSBGWD, GHFW  UHLTRID, 2 BUSHS
oo Geuemeveuruii  SpFweuBBled al(BLUSITH  6NleN6ITe)HmET
SOLUSBESGLD HMJE0IOTE 26N,
a. HFHHOHTeTND
b. uwIs6BTeTEND
c. Guilw QummenTHTy OHTeiTeND
d. B8 wBmId uis CBTeTms
e. alewL OFflwalsensy

How the chemical fertilizers can be avoided in agriculture?
I. Drip irrigation

II. Cultivation of oil seeds

III. Cultivation of cereals

IV. Bio - fertilisers

a. [l and IV b. IV only :

c. Il and III d. All of the above

e. Answer not known

Geauenmemieniouled eteliouTml Goudd o Jmisemen HalTehEHe0MID?

[. QFm’ B Biriurgend

I1. eremmQemiul elgHg FTGLIg

III. ip sreilw grELIg

IV. o_uiit o_pgmisel

a. Il wmmp IV b. II " @G

c. IT wmmnp TII d. Gumampwmel SIMRIHHID
e. alemL OFfwealeoensv

Human Development Index is constructed on the basis of

I. Life expectancy at birth

II. Standard of Living

III. Educational attainments

IV. Morbidity

a. I, IT and III are correct b. IT and III are correct

c. [IT and IV are correct d. [ II, Il and IV are correct
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e. Answer not known

welgd  Gubur s GPuih  SheurmeausTeuBBIeT  61HeT  SlglilienL UleD
o (HOUTSHSLILIL (heiTengy)?

[. eumpmmeT (LU’ &mTevLd)

II. aumpsemas b

III. seval &3

IV. Grmrumm sHestenio

a. I II wpp III & b. II wmpd I &

c. Il wpmpe IV & d.L IL III w@pd IV &

e. alewL OFfwalsvensy

The principles are included in the Articles 38, 39, 41,
42 and 43 of Indian Constitution. Which are related to Directive
principles of State policy?

a. Gandhian b. Socialistic

c. Liberal d. General

e. Answer not known

odFlar OpBi(penpd OCETeTmdHmend OB AbHHU!  DIFFlUIeOmLOLIL],
alglser 38, 38, 41, 42 @b 43 OB TeiTenHeEmUL
Geueli®G &g et360r.

a. SMhHWeUTs b. Fwamo

C. HTTTETEUTS d. Qurgieumer

e. alemL OFfwaledensv

Match List I (Party) with List II (Associate / Founder) and choose the
correct answer from the codes given below:
List I List II
(Party) (Founder / Associated with)
A. Independent Labour Party 1. C. Rajagopalachari
B. Bharathiya Jana Sangh 2. AK. Gopalan
C. Swatantra Party 3. B.R. Ambedhkar
D. Communist Party 4. Deen Dayal Upadhyaya
A B C
a. 1 2 3
b. 3 4 1
c. 4 3 1
d 3 4 2
e. Answer not known
uCuied I b (opdwed & d) uluied I (HmevauT) o L et Uil (5,
gilwmrer alwLenw GxiTe) OFuiweL.
Ll guied | L guied I
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(L) (HemevauT / o miriieo)
A. szbdy o ewliumenT &g 1. 8. greBasmumeorgamifl
B. umgguw e gmisid 2. ¢.8xs. Gamrumevet
C. szbalis o d 3. U.&iT. oubBugh et
D. sbuyefeol s d 4. FH& HWMEL o LITSHWITU]
B

2
4
3
4

Who stated that "Fundamental Rights are the shield of Democracy"?
a. Patanjali Sastri b. Lai Bahadur Sastri

c. Sri Vishnu Sastri d. Ramakrishna Sastri

e. Answer not known

“OlgliuemL. 2 MenoseT 6L  DHHeNTL Flulledl Heugld” eledh  FnmluieuT
wirir?

a. UBHEhaed FFmerdgi b. eumed LBHAT FTerdOSM

c. 1f alagem FTerogil d. gmodmagent Frerdgi

e. alemL OFHMuwalsvensv

Select the word that was inserted in the 6t para of the preamble by
an amendment in 1976.

a. Socialist b. Secular

c. Integrity d. Dignity

e. Answer not known

(Waaemyuler 6 usHHuTed 1976 Sib LewIB DIFFWED FTFRT  H(HHFH60
gLLID cpeoons CaidHs aummhmdpemwl Cofha abHHEaLD.

a. Ggmgels / S MbIDTE b. wsFstTUBX

c. Gmritemio d. sewrenfluib

e. alemL OFHfwalevensv

Tulsidasa was the most prominent saint of cult.
a. Kali b.Rama c.Shiva d. Vaishnava
e. Answer not known
LT 1960 HIMFSHTHT 106 FWbHe Himal.
a. smer b. ®mo ¢ dleu d. eweuagemie
e. alemL G flwaledensv

12.  Who was the author of Varadambika Parinayam?
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a. Peddanna b. Thirumalamba Devi

c. Ganga Devi d. Krishna Devaraya

e. Answer not known

aurgmblisr ufleomuid e Hrevlesr spdfluim wimir?

a. QugzemtemntT b. Smweombur Czpal
c. amaT Cxpal d. magenrGseurmuiT
e. alewL OFMwalsdensy

Which state was divided into “Seven waring principalities” during
Akbar’s reign?
a. Bihar b. Bengal c. Gujarat d. Orissa

e. Answer not known

oLl sTeuhHed  ehd  wmbeod gy  CuT  yfihgCsTeTEmHD
NyCpgmisents LIMasiiulLg?

a. Uemmr b. QurisTed C. GHX|UTH d. @flerverom

e. alewL OFflwalsensy

Regarding the Indus Valley Civilization, consider the following
statement.

1. It was predominantly a secular civilization and the religious
element though present did not dominate the scene.

2. During the period, Cotton was used for manufacturing textiles in
India.

Which of the statements given above is/are correct? a. (1) only. b.
a. (1) only b. (2) only
c. Both (1) and (2) d. Neither (1) nor (2)
e. Answer not known
Fbg Fwobeuel BTaMsDd UBBSIW Shdsemil Fa@Bpled 61g gFflwmer dnpml?
Caxitey OFUIs.
. Bal WHFFTTUBB BISMBID  (PSHEEDDWITHIHTS  HTEOIILLL G  Goguid
HTOIH @ CUIHID FUPSHTWSHHL DHPTLOSH6606m6L.

. B&aTeHI0 Maleld OCFTHBsTmn 2 BusHHuled LBSSH (WeHHWw
LURIG 6UDHSHHIHI
a. (1) B0 b. (2) wl @Gw
. (1) wBpb 2) LEED  d. (1) b Seoemed (2) b G606V
. alewL  OHMuwaledensn

The nodal agency responsible for monitoring seismic activity in and
around one country is

a. Geological Survey of India

b. Indian meteorological Dept

c. Emergency operation centre
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d. National Disaster Management centre
e. Answer not known

OhIHU DIFTRIGSHET 6hdH HBeUed BTLIgEL gBRUGBD Hev DiFHTe sHener
H6WI BTN SH MBS

a. @bHuw Leluluwed SLUie] enLuLD
b. @baw euTafensy &LUley ewLOWILD
C. OUFT &HM6v GFWeOLTL(H emLOWILD
d. Gaflw GuilLi Guevmemienid emLOWID
e. alemL OFflwealevensv

Name the place where the Khadar soil is found.

a. Foot hills b. Piedmont plain

c. Flood plain d. All the above

e. Answer not known

SHTHT U el 6ImIGH HTewrlILBHBGI?

a. M6V  BJIQAUTILD b. S oren FwGeuerd

c. Oeueiteng FoGeuer d. GuBsv 2 _siten DieMeTHSHID
e. alemL G flualedenev

is the highest peak in the state of Maharashtra.
a. Kalsubai b. Kudarmukh
c. Mahabaleshwar d. Harishchandra
a. Answer not known
LDSTITAIQTT  LOTH6VSHHL SIewIopHSHIeTeN 10&H 2 wgLomet F&BJb
a. HeL&HLMUI b. aLIWwS
C. sTUBsVeLGIT d. emflesshAym
e. alemL OFflwalevensv

What is the discovery of Japanese Isamu Akasaki who was awarded

Nobel Prize for physics in the year 2014?

a. Discovered that black hole formation is a prediction of general
theory of relativity.

b. Discoveries in theoretical cosmology

c. Inventions in the field of laser physics

d. Invention of blue light emitting diode

e. Answer not known

2014 o0 ey BuwiBLilwed gHiewmasmer Cpmued ufla, sliumeiw @amp

DIBTEFTHEG 6bFH HWIBLIQULISSTS GULDRISLILIL L HI?

w. grmiwed  Qurgleumenr  Gasmlumliges — Hewillly — HTT  BH(HHDHIN6N
® (HUTHGLD 616N EH H6wI(BLIGSHBTT.

9. Camum’(h SjewiLalwed SHiemmuled SewlBLIGLIL|SH6IT

o .GovgT QuIBLIwed Hliempulled SHemTBLIQLILISENT
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. hev g6l o 1lap ewL G sewiBLIgLIL
B. alewL G flwealsdensv

19. "Venkatasubbiah" of Karnataka well known personality, is a
a. Historian b. Chorographer
c. Vocalist d. Lexicographer
e. Answer not known
‘Coumisl. &liemUwT” 6lgnlld HTBTLSTalel LS GLBB SLEHEDID eI
a. eugeommmmflwiT
b. alfiflev mmevmevT
C. @F UPDHH60 GUTUINILITL L T6ITT
d. GsmBsenehdw SLAfwiT
e. alemL OFflwalevenso

From the following statement, which are correct?
1. Italian company Sabaf manufacturers components for household
cooking appliances.
2. Cubic modular systems is from Denmark.
3. Stan a dyne is an Indian based company.
4. Eickhoff wind Asia Pvt. Ltd., is from Singapore
a. (1) and (2) b. (2) and (3)
c. (3) and (4) d. (4) only
e. Answer not known
LNeiTau(pHd Smmsled elemeu Flwimem FnmBm:
1. @550 BT yewerF Gaibsd Sabaf Pmeuend i G Feniouied
FTHANBIBEHHHTET QLITHeD6T HWTTHS MBS
. Cubic modular systems Bgieueno Denmark priigener Gsimbsai
. Stan a dyne @@ @bHw BT ML FIMbHSH BBICUTLOTEGLD
. Eickhoff wind Asia Pvit Ltd eie5i3 Blmieuend Hmisiigeny GaibsHsl
- (1) oBmid (2) b. 2) wimd (3)
. (3) wBEpId (4) d. 4) w’ @G
. alewL  Gafluailsbensv

A sudden change of a gene or chromosome from one form to another
is called

a. Deletion b. Duplication

c. Mutation d. Inversion

e. Answer not known

wyuemIbseT  wpmid GOITGTGambseailsd gBuUBLD  HleT  IBBLD
SIMIPSHBLILIHIS

a. BIHH6e0 b. ULeHTOL BIBTH6e0
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c. &g LTBBLD d. smevsdIpTsHe0
e. alemL OFflwealevenso

Where Khod Mals tribes live in India?

a. Tripura b. Sikkim

c. Gujarat d. Orissa

e. Answer not known

AphsHwraled Gam weverd UPEIGIQUI6T 6MIGH 6UTIDSIMBTTEH6NT?
a. @iflygm b. flédib

C. GYTH d. @flgr

e. alemL OFHfwalevensv

Which of the following planet rotates from East to West?

a. Earth b. Jupiter

c. Mars d. Venus

e. Answer not known

SIDBTERILBBIGT 61hEH HIHld HpSH el mHha ComE ChTéhs SBBID?
a. yuo b. elwimpes

C. QFeleumul d. Geueiter

e. alewL OFflwalsdensy

Learning of science mainly helps a learner to develop
a. Scientific attitude of mind
b. New ideas

c. Experimentation skills

d. Positive attitude towards life

e. Answer not known

Sflalweney HBLSHTEL SHBUGUT 6UTTHHIH CBT6lTEHeaISH
. oeTGHlenT DBaluled DIeIEH(Penym
. YHW SHSHHIHH6N
. uflGagmgHement FHmeir
. UTDSHMBMW GBIHSH GHTOMBUWITET OIEINISG (OB
. alenL Ozfwalevensv

What is the eleventh Fibonacci number?
a. b5 b. 77 c. 89 d. 144

e. Answer not known

LS Cemtmreugs LILGeTd) eT6wr 6Teitent?

a.d> b. 77 c. 89 d. 144
e. alemL G flwaledensv
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If AT =20, BAT = 40 then CAT will be equal to
a. 30 b. 50 c. 60 d. 70
e. Answer not known

AT =20 wipi> BAT =40 eeieo CAT =7

a. 30 b. 50 c. 60 d. 70
e. alemL OFflwealevensv

Find the missing number.

125

&

a. 40 b. 60 c. 64

e. Answer not known
QNBLILL  6T6o0Ten6u0Te  BIT60Tb.

125

A

qj\

a. 40 b. 60 c.64 d. 74
e. alemL OFfwealeoensv

A can do a work in 15 days and B in 20 days. If they work on it

together for 4 days, then the fraction of the work that is left is:

1 1 7 8
a. = b. = c. — d —

4 10 15 15
e. Answer not known
A @m Geauemevenws 15 pT sefled OGFuwienT. B 6% Geausmevenws 20
BT &6Med GFulaun. eBaimevenws A, B @maumbL GFihg 4 BTl &6
WSHFLI6  1BH(eiTern Beuemeouledt LNedrerd
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2 b. -
4 10
b. allewL GgMwealsdensv

a

The radius of a spherical balloon increases from 7 cm to 14 cm as air
is being pumped into it. Find the ratio of volumes of the balloon in
the two cases.

a.1:2 b.1:4 c.1:8 d.7:14

e. Answer not known

7 Q515 ob Osmewi  Gsmenm  augel UsuTeled HTHBBMI  CFISHSLILGBLD
Gurgl SipeT SIb 14 QF.15 o5 DHSNHHT60, Sleual( Henevderiled
LIQOTEI6 6 D6 BeTa S HHMmHE SHT6Ib.

a.1:2 b.1:4 c.1:8 d.7:14

e. allewL  OFflwealedensv

The population of a village increases by 10% every year. If the present
population is 6000, what will be the population of the village after 3
years?

a. 7966 b. 7956 c. 7936 d. 7986

e. Answer not known

QH SHITLSHIH6 0SS BTN e6lbeuT(h LB 10 DiH&TSHSBS.
oIHer AUBUTHW  1HH6IT CFHTend 6000 oleied 3 HWIBHEHHS LIBG
SIGITTOSHIE 1DSHSH6IT OHTeND  6l6TeTeUTS  B(HHELD?

a. 7966 b. 7956 c. 7936 d. 7986

e. allewL  OFHiflwalsvensv

Basha borrowed Rs. 8,500 from a bank at a particular rate of simple
interest. After 3 years he paid Rs. 11,050 to settle his debt. At what
rate of interest he borrowed the money?

a. 10% b. 5% c.20% d. 15%

e. Answer not known

LUTL QT eTailelT @(h eumdSuledlhbhad @b GUILUILL Salally aihsHde0
ah 8,500 2 HL&ME OUBBTT. cPHIBI DLEWIBH6T HHHH DeuT ep 11,050
CFVIHF HL M DIHLHHTT 6T6l60 UL 19 aIHIDL

a. 10% b. 5% c. 20% d. 15%

e. alewL Oz flulalsvensv

Arvind borrowed a sum of Rs. 8,000 from Akash at 7%. per annum.
Find the amount to be paid at the end of 2 years at simple interest.
a.Rs. 1,120 b. Rs. 1,210

c. Rs. 9,120 d. Rs. 9,210
e. Answer not known
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oaibdh el qp 8,000 el DBTad oL O[mbhE ShewihodE 7%
Solaul’ly eiHDd HLemd QuUBMTT. SFenih emihEeier (pyaled SFaibhd
CFavsHd Geuewligul OOTHHSH OCHTNHEMUIS HTEHISH.

wl. ep. 1,120 9. ep. 1,210 2 . 9,120 ol ¢h. 9,210

B. alewL G flualsbensv

Ramya earned per month Rs. 28,296. She utilized her salary in the
ratio 4:1:3 for education, savings and other expenses respectively.
Find her savings?

a. Rs. 2,829.60 b. Rs. 3,247

c. Rs. 3,427 d. Rs. 3,537

e. Answer not known

JWr  eelbleum( WISHUPD o 28,296 FIOUTHSSHBIT. SDigewet 4 : 1 : 3
aeip  eldHHHHev (BB  Heval, GFOY LBBID GFHT OFeve Hei
CeFwWISBTT eelled SluT CFlOldHGHID OHTend 6l6lal6Ta|?

a. @ 2829.0 b. 3,247

C. o 3,427 d. a 3,537

e. alemL OFHfwalevensv

Bukka sent an embassy to dynasty in China.

a. Ming b. Zhou c. Han d. Sui

e. Answer not known

LbbT Femaileir AUDFSHHBEG BHTHIUDT DI 6oTTT.
a. Lm b. Gan C. Qmesr d. sul

e. alewL O flwealsdenso

Find the HCF of the following:

6(2x2- 3x-2)

8(4x2 +4x + 1)

12(2x2 + 7x + 3)

a. (2x + )(x-2)(2x + 1)(x + 3) b. 2{2x +1)
d. 6(

c. 4(2x + 1)(x-2)
e. Answer not known
B.0UT.6l. ST,

6(2x2- 3x-2)

8(4x2 +4x + 1)

12(2x2 + 7x + 3)

a. (2x +)(x-2)(2x + 1)(x + 3) b. 2{2x +1)

c. 4(2x + 1)(x-2) d. 6(2x + I)(x + 3)
e. alenL OzMwaledensy

2x +1)(x +3)

36. Why the State E-mission Team (SEMT) is formulated in Tamil Nadu?
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a. To train IT professionals for economic development

b. As part of capacity building initiatives under National e-
Governance plan

c. To provide consultancy services for industries

d. To provide guidance to e-governance projects at the district level

e. Answer not known

SOPBHHO B-100g6T GUD gl © (HeuTHSLILLL HI?

a. Gummennany euenTFFears 1T aucdanpTaament LUIBBIOTssHe0

b. Gxdw 1her Syememd AL GHHeing SHmer Gl um B (pwBduler @it
LSS

C. QFHTPBFTMVBEDDHE DUCeOTFMEIBET 6ULDMHIGHSHED

d. wreu’ L Sjenelevrer LT SEHEMWLS HLHIBEHEES UINSTL BSHe0

e. alemL OFHfwalevensv

According to the (SDG India Index) report of 2019 of NITI Aayog,
Tamil nadu is placed in the sustainable Development
Goals India.

a. First b. Fourth c. Third d. Sixth

e. Answer not known

pg  olundh-ai  SNfldmauier Ly  SOUDBTL T  BeEOWITET  6U6NTFS]
®evd@ 2019 @uuiLmeig Tblevmiseler euflenauiey
B HHeL 2_6lTenl.

a. (PSH6eVTeUSI b. BreisTeUS C. CLPEUIBITeUSI
d. eumpreugi e. alewL Oxflwalsvensv

Name of the scheme introduced for the improvement of village
habitation in Tamil nadu?

a. Self help scheme b. Thai scheme
c. Green scheme d. Annai scheme

e. Answer not known

SODBT 1960  GoBgmomseier  GuburyBarts  PSWSLILGSHSUILL L
S L SHFHeT QLT 6r6vT601?

a. s o _seildh SHLIb b. smu1 HLib

C. UG LD d. sisiemer i L1b

e. alewL O flwealsdenso

Which committee recommended the 27% reservation of the OBC in
the government jobs in 19917

a. Balwant Rai Mehta Committee

b. Bindeshwari Prasad Mandal Committee

c. Ashok Mehta Committee
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d. None of these

e. Answer not known

oFmhs  Caumevseied  LIBUBSHSILLL  auGlidenmpbg 27 %
eabs oL Furfa Cguis sy G 61g?

a. ueveuphsH Jrul sl

b. ECxHageufl Lyans ewi_ed SO 19

c. 9Bsms GuwsHaT S I

d. @860 eEID Bevenev

e. alewL OFfwalsdensy

The south Indian Liberal Federation was renamed as

a. Chipko movement b. Justice party

c. Dravidian party d. Self Respect movement

e. Answer not known

Opeialbaul  Hew o fewd gmsd  LIBsTeudhdHed  Spdewi  Guuifled
SISl L G|

a. BT Buibsd b. s @' A

C. FHymalL Suisbsd d. sw wlwremg Buisbsid

e. alewL OFflwalsvensy

Active Learning Methodology (ALM) is being implemented at

the in Tamilnadu

a. Primary school b. Middle school

c. High school d. Higher secondary school

e. Answer not known

SHODBTL 960  2_6iTer QFwelwesd sBmed (e  (ALM)
CFwebLBSHSLILIBS B

a. Oam_sase0al Ueeflderien b. pHBemevrl UeiTe®eien

c. o wipleneoll Uelefldee0 d. GusvBemevll LisTeMdbered

e. alemL OFfwealeoensv

Which Gupta ruler issued Allahabad stone Pillar Inscription?

a. Chandragupta I b. Samudragupta

c. Kumaragupta I d. Skandagupta

e. Answer not known

b GUSH eubF S HwmenT VSTUTH H60  HTewl  He00GUL ML
GleuerflulLLmiT

a. (Wgeombd FHAT GLIST b. sWsSIGLIST

C. (PSHEUTD GLOMIGLIST d. evabhs GUST

e. alowL  OFMwalsdensy
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Match :

A. Ammu Swaminathan 1. Youth League

B. Rukmani Lakshmapathy 2. Constituent Assembly

C. Krishnammal Jaganathan 3. Neil Statue Satyagraha

D. Anjali Ammal 4. Bhoodan Movement
A B C

4
4
3
2

QUTHHSHIH:
A. oubap eroaumOBTS6T 1. Be6NEhHT Fnl lpeNEmTaY
B. méwanl svéEug 2. OFwed SIMWLILFFmL
C. dmademnborer OgsmTgHeb 3. Mo Hemev SHAWTETEHID
D. Bl6hF6l SIDLDT6IT 4. ysner Suishsld
A B

3
2
1
4

'Alive was he yesterday, but not today.
It is a marvel in the world's way'. What is the meaning of this
Thirukural?
a. Everything is permanent in this world.
b. Nothing is permanent in this world.
c. Birth and Death is natural.

d. The world is a proud place

e. Answer not known

"OBBHEL 2 _eToleNT(HeuesT E6i3le06m60  6T6TENILD

QUEHMLL WML SHHIB6 @evE 6B GHMET FnlID H(HHH WTH?
. 2 B HlenevSHHIH

. 2 B HleneouileLevTHSHI

. Uplyd @piyn QuiBens

. 2 605D OLHEMLOU|HL WIS

. alewL  Gafluailsbensv

Whose quality is it to have courage, a liberal hand, wisdom and
energy?
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a. Quality of a King b. Quality of a Minister

c. Quality of a Soldier d. Quality of a Poet

e. Answer not known

SIEhFTMID, FeNdH, DNjle], 2MHHID EHHTEIG (GHWIRISEHD DL Al T
BIBmed  wyg Suieoy?

a. OIIFaIH Bulev| b. oimwFFaig Suieo

c. afyeng SulevL d. yeveuysm Suieoly

e. alemL G flwalevensv

Thiruvalluvar refers to the last stage of the uneducated?
a. Noolgalai Katru Adhigam Peasupaver (who read texts and talk too
much)
b. Noolgalai Katru Peasa Maruppavar (Refusal to read texts)
c. Noolgalai Katru Kondiruppavar (one who reads the text)
d. Noolgalai Katru Avaikku Anjubavar (Read the books and Afraid
to speak in the congregation)
e. Answer not known
“Be0euTHeUM6 HemL " 6Tl GUATEHEUT WITeDTH SnMIsIMTT?
. BITeUEHMeNS &BHI DFHSD GuaLieuT
. BIevdemend SMmI Cug wmItiLeuT
. Brevdamensd SmmI Cug wmItiLeT
. BTVHM6NS SBMIS OlBTeuNg (HLILIGUT
. alewL Ggiflalevensv

Identify the first Tamil Text which states that the globe is spherical in
shape?

a. Thirukkural b. Nalladiyar

c. Yeelathi d. Mudhumozhi Kanchi

e. Answer not known

© UBLD 2 (HEWIML. AUQAIDTRIHI 6T601dh FaBil (HHO SLODHITEL 61517

a. HmeBSMme b. pmmevguirmit

C. goord) d. wa6wmhssmehd

e. alewL Oz flwealsdenso

Which of the Ettuthogai book contains ample historical incidents?
a. Agananooru b. Kalithogai

c. Natrinai d. Kurunthogai

e. Answer not known

aureuTBEIF CFUISHBNT WGHWTHDS OHTRIL 61 (HHOHTmS [HITeL 6157
a. SIEHHTEITDI b. #0505 TmS
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C. mmpdement d. eobhosTms
e. alewL G flwailsdenev

Which one of the following Ettuthokai books consists of more
number of songs?

a. Nattrinai b. Kurunthokai

c. Kalithokai d. Ainkurunooru

e. Answer not known

Leiteau(Bho 61 (hHOSHTMS  HIT60SHEH6T DISHBHIOTET  LITL 605606

HIT6L 6157

a. mmpdenest b. BIHOSTS

C. HVHOBHTND d. ;RGBIHIH

e. alewL G Mfwalsdenev

The founder of Deva Samaj in 1887 was
a. Swamy Dhayananda Saraswathi
b. Shiv Narain Agnihotri
c. Athmarao Pandurang
d. Kesavachandra Sen
e. Answer not known
1887-60 Bpeu FOTWHMmS CHTHBBINSHSH6T
. Goumd SUITEIHS FTerveud)
. dleu mrgmwent b6l CammsHaif
. DISLOPTeN  LITenT (B
. Caxaaugmhaly OFer
. alewL G flwalsbenev

In which congress session did Mohammad Ali Jinnah moved a
resolution = condemning the system of communal representation?

a. 1910 b. 1911 c. 1912 d. 1913

e. Answer not known

abd SThIESFed WIHTLYEL auGLY s LITHBFHsHamend Heam el
GFTHTEMe (LPHOFH D6V Mevtedim O\BTewIH  UHIHTT?

a. 1910 b. 1911 c. 1912 d. 1913
e. alewL G flwailsdenev

Who was the founder of "All India Scheduled Castes Federation"?
a. Babu Jaga Jeevan Ram b. B.R. Ambedkar

c. Y.P. Chavan d. S.B. Chavan

e. Answer not known
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SIMOHSHHHW L 1guied Denidhdlenilenr gnl L enoliillenet HipielweuT wimt?
a. umy O&seSeuet D b. B.R. oubBusbasit

c. Y.P. seures d. S.B. gFeures

e. alewL G flwalsbenev

Who among the following was regarded as "Moksha Guru" by
Gangadar Tilak?

a. Anna Sahib b. V.D. Savarkar

c. M.G. Ranade d. W.C. Banerjee

e. Answer not known

SIPHEILAITHOMN60 WTeD] UTOSHIBTH] HeodT “BGuomlgs @Gm~ s
&(H S GTIT?

a. SleremaTall b. V.D. gmeaitdbsasit

c. M.G. premiGL d. W.C. urewiited

e. alewL G fwalsdenev

Out of various stages in demographic transition theory the stage that
exhibits "Low birth rate and low death rate" Corresponds to

a. Rapid increase in population

b. Stable or slow increase in population

c. Rapid decrease in population

d. Population explosion
e. Answer not known
weHL  OgTensulwied wrmmes Camiumliger ueGap &L LSHHO ‘SHTDHSD
Umpliy eisd woppid STphs Gl aisb” 2 eLul UL HHe0 Llereuhd
§bg Blameveil @S5I HBBBS).

. D&HFH6T OFHTemaUled alenyoumet SIFH S

. 1056 OFHTenaUTed Hleneowimer OieLeLH OLoglauTet Oig& L

. 1056 OFHTendUT0 alenTeUTeT (&HMMe]

. D&HH6T CFHTend GleUIQLIL|

. allewL OFflwalsdenso

The Government of India launched a time bound plan in 2005 called
Bharath Nirman Yojana. Which one of below is not connected with
Bharat Nirman Yojana?

a. Rural connectivity b. Rural housing

c. Self help group d. Rural water supply

e. Answer not known

@bHw s 2005 LD SLEWNgeL UMTSH HITOTET 61D HIenPSHSLILIBLD

Qb HT6V  6T6V6NEVEGLLIL L FHLL HnDH SIV(WSILGSHH WIS
SLDHEWTLUBBIeL LITTS BT FULSHHIL a1 CGHTLTLNe060THSHI 61517
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a. &gmolyp  EenewilL b. Sgmoliup o' G eausd)
c. aw 2 Fal Gaup d. dgmoiiys BT e
e. alemL G flwalevensv

Which of the following subject comes under Central Government?
a. Banking b. Agriculture

c. Prison d. Public health

e. Answer not known

Leitau(heuetaummled 6% HHW DFFler S umHIBHI?

a. GUkIS) b. efeusmuid

c. denm d. Qurgl S&&THTTID

e. alemL G flwalevensv

Reverse Repo Rate (RRR) means :

1. The rate at which the RBI is willing to lend to commercial banks

2. The rate at which the RBI is willing to borrow from the commercial
banks

3. Bank rate policy

4. The variable portfolio ceiling

a. 1 b.3 c.2 b. 4

e. Answer not known

el QruiBum aI&lHLD ereiTLIG):
AeW® URIBIBEHDHE DU  QIBIB  GHBIHUW BTV HLGT  GUDBIGLD
QuTpal aNFHSHD allly aldHD
alenlad amB SN O(HHFH UTRIGD SLadbsTer BbHw MFiTel eumis
OaThdHd all(HbLD Ul alHlSHID

. aumg aldsd CETeTend

4. @b OHTGLIL] eueDTUIenB

a. 1 b.3 c.2 b. 4

e. alewL G fwalsdenev

Which mission endorsed the plan for a Central Government with
limited powers and relatively strong provinces having considerable
degree of autonomy with all the residuary powers?

a. 1946, Cabinet Mission

b. 1942, Cripps Mission

c. Constituent Assembly 1949

d. Simon Commission, 1928

e. Answer not known

Leitu(hD 61hH GH() MW DIJF 6UJIeNLD (GHMBEUTHAID LOTHIEL DIT&iSH6I
SIFHEMwTe &SHHTSEHTH OFweLBousBE alSHHILLgI?

a. 1946, GasUer uemlldE D
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b. 1942, &ftierd wewNdBE@ 1D

C. oFlwed FTFer SIMWLILSSGAD, 1949
d. engwer gemewtuib, 1928

e. alewL G flwailsbenev

Who among the following controls the Secretariat of the Loksabha
and Rajya Sabha, respectively?

a. President and Vice President respectively

b. Prime Minister and Union Parliamentary Affairs Minister

c. Prime Minister and Home Minister

d. Speaker and Chairman respectively

e. Answer not known

Neltau(pld  QUITBINILITENTHEH6T Wt S  Sewad  oBBId  Gosveneuullest
CFwWesHMSH S BLLGSHS, HemevamoGUBBI auPBL $& 6Fe0sleTme60rT?

a. WEITHUG OBBID HleNewT ML)

b. Ggsw whHR LBBID WSHHW LTTTEHOGTIBSHSHINB  DIEHLDF ST

C. Mysw whHAHf WBBID 2 6THMB DIMOFSFT

d. Sipemeuuiest FumBTWIST WBBID GevenaluleT HENeVaT (LPENBUITH

e. allewL  OFflwalsvensy

Which schedule of the Indian Constitution specifies powers,
authority and responsibilities of Panchayat?
a. Seventh schedule

b. Sixth schedule

c. Tenth schedule

d. Eleventh schedule

e. Answer not known

OphHw  SIFweoemoliler  6hdH DI Lementulled  LighFTWSHSH  (LpemmUTledt
BBV, DIHSTTD WwBEID GurpISsment LB GSBIULIGSBE?

a. GJIOTeUS| DI L 6)6D6NT b. @umreus S L euenemnt

C. USHSHTAUH DL L 6U6D6T d. uHOHTSIWTID DL L GeneuoT

e. alewL G fwailsdenev

Choose the correct order of the Vice Presidents based on the
succession.

a. K.R. Narayanan, B.D. Jatti, Zakir Hussain, B.S. Shekhawat

b. Zakir Hussain, B.S. Shekhawat, B.D. Jatti, K.R. Narayanan

c. Zakir Hussain, B.D. Jatti, K.R. Narayanan, B.S. Shekhawat

d. B.S. Shekhawat, Zakir Hussain, B.D. Jatti, K.R. Narayanan

e. Answer not known
slewent MemaHlugseien giwmer eauflengenwt CaThHOHHHBHLD.
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a. C=s.&ou1. mIgTwenier, Lllg. OCmlly, 2raliT anr@ger, Ll.eer. OeagsTeul
b. mrdt anGser, L.eed. Gagsme, Lillg. G219, Gs.OYT. HTYTUIGHICT
Cc. rdT amGaeir, L. Gmliy, Cs.&uT. BTIFTWeNIET, Li.6Terd. Gagsmeul
d. Mererd. Geagsmeu’, MTAT anGger, Lilg. G219, BH.OYT. HITTUICHICT
e. alemL G flwaledensv

Which amendment in 1976, inserting the. word secular in the
preamble of the Indian Constitution

a. 41 amendment b. 42 amendment

c. 44 amendment d. 45 amendment

e. Answer not known

1976- b sewih BbHw SFFlwevenioliilet (WpHLimIuled, ‘FowigFTiums’
B AUTTHMSH  ISHHMLTOUH  TFWVMLIL]  FLL H(HHSHHHGILIY
Cairdaliul L g|?

a. 4leug SFweoemoliy FH(hGHHb

b. 426ug odlwevenioli] HHSHIID

C. 446uz SFFlwevemiolil] H(HHSLD

d. 456ug opdwevemioli] HHSHHID

e. alewL OHflwealsdensy

The first traces of a human being in India is found in the
a. Deccan b. Narmada
c. Indo-Gangetic d. Chambhal

e. Answer not known

LDGu & 6ol 6o BL_LIBIEBGIT (LPSHGIT (1pH6I60 BbFHwraied
SHeTOIL_(HbBLILIL L6017

a. HHBTEILD b. mrwsT

C Ohd — SHHIDD d. Fumed

e. alemL OFHMwalevensv

The largest producer of green energy is

a. Solar power b. Hydro power

c. Wind power d. Geothermal power
e. Answer not known

ugemo SBpeder WsloUfuw o Bugbgluimen

a. @i F&53 b. yered WeiFsa)

C. BB F5H d. yalGeuiu F&5)

e. alewL Ofwalsdensv

Which tree was regarded as the tree of creation and knowledge
during Indus Valley civilization?
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a. Pipal Tree b. Mango Tree

c. Neem Tree d. Tamarind Tree

e. Answer not known

obd OJID ‘UL iy’ oBmid opsleler wywTs”  Hbg  Fwbeuel HTsfs
HTVHH0 SHHBLILILL HI?

a. OIF WJIb b. wmwoyib

c. Gauliu oyIb d. yeflwiogid

e. alemL OFHfwalevensv

Asbestosis is a chronic inflammatory condition that affects the tissue
of
a. Brain b. Heart c¢.Lungs d.Kidney

e. Answer not known

SeOOLIEOLTHed 6l BIeTULL  OIpBd  Hleweowimed  FHFdbdein
UTS UL UJD 2 B

a. eLpeneT b. @suwib C. mImyuiyed d. ApBysid

e. alewL OHflwalsdensy

Match the following :
Tribe State
A. Aka 1. Assam
B. Ahirs 2. Ladakh
C. Beda 3. Arunachal Pradesh
D. Karbe 4. Uttar Pradesh
D

A
.3
.3

4
i

e. Answer not known
SpSHBEWILBenB  CLIT(HSHSHIH:
LILpBIGH19 Ul 6ot LOMT[Hl6VLD
A. o&T 1. &I6r6NmD
B. a&liTerd 2. 6L
C. Quum 3. omentFFev LITCHa
D. i 4. 2 _sFH1 rCsad
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e. alewL OFfwalsdensv

International children's day celebrated in China on

a. 21st May b. 1¢t June

c. 31st August d. 1st November

e. Answer not known

Fomaled FTauCsHF GWHMSHH6T SHlevld OHTewIL ML LB [HT6lT.
a.21 G b. 1e8a@1 ¢ 31 Sy@eroL d. 1 meumbuT
e. alewL OFfwalsdensv

Arrange in descending, the top agricultural producing countries in
the world?

a. China — India - United States - Brazil

b. China — United States — Brazil — India

c. China - United States - India - Brazil

d. United States — China — India — Brazil

e. Answer not known

Gouenmemientd 2 MUSHUTED (LPSHETHIOWITET  HT(HBeT @DBEIG 6auflengullsd
CafbosbaHs.

a. Fair - @bhHwur — 9CwfHs MBS BTGH6T - LICTHleL

b. fam — oOwWHEs MmeHW HIGB6T - LIGTFed - SbHwim

c. Farm — 9IOWfES MEHw BIH®6T - GhHwr — LIGydFlev

d. ©0wliss M BIGHeT - Farm - GphHwm — LIGydled

e. alewL OFflwealsdensv

Match the following :

Name of the party Symbol

A. Janata Dal (JD (U)) 1. Plough

B. Jharkhand Mukti Morcha (JMM) 2. Ladder

C. Indian Union Muslim League 3. Bow and Arrow

D. Jammu & Kashmir National Conference 4. Arrow
A B C D

a. 2 3 4 1
b. 3 4 1 2
C. 4 3 2 1
d 1 2 3 4

e. Answer not known
SLPHMILaUBenB  CUT(HEHSHIH:

&l Fulest GuwT &eveo1LD
A. gezt seod (U) 1. gitseolienL
B. egnfisemi. (paég Guoritemr JMM) 2. gewfliiug
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C. @badu ugefuier (1peroedid 65 3. afebglild SbLID
D. m;ibap smeft wipm G &l g 4. 9|bL

A B C D

2 3 4 1
3 4 1 2
4 3 2 1
1 2 3 4
alewL G flualsensv

a
b
C.
d
E.

"ECLGS" scheme is a

a. Emergency Credit Line Guarantee Scheme

b. Emergency Credit and Law Guarantee Scheme

c. Emergency Credit and Life Guarantee Scheme

d. Emergency Credit Loan Guarantee System

e. Answer not known

SHILLLD 6Tl
. OIQUFTHTVH FHL 6T 2 HHTaUTHSH HI L LD
. OIUFTHTEVF SLGT LOBEID FLL 2 SHHIAUTHS S L LD
. OIQIFTHTeVSH HL 6T OBMID SLUIGT 2 _HBTAUTHSH HIL L LD
. SIUTFTHTVSH HLGT 2_HSHTUTSH SHeMLOLIL|
. alewL  Gaflwelsbenev

What is the Vaccine given for polio?
a. IPV (Inactivated Polio Vaccine)

b. OPV (Oral Polio Vaccine)

c. BCG

d. IPV and OPV

e. Answer not known
GumelBuimelmdbaerer HBLILF 6T6Ten?
a. Wwharéssiu’ L CuredGuim mbHE!
b. amuienf GurelBwim HBLIL WHHS!
c. gl

d. wpsoTaEsiulL GurelBuim HEUIL WHHSH BBID eutuieul GumedGuir
BB LGHSI

e. alenL Ozfwalsvenev

The rays markedly increasing Shelf-life of fresh fruits are
a. Xrays b. Gamma rays

c. Beta rays d. Alpha rays

e. Answer not known
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LphIGeTer  OsLT  Henewd  STevHMSHS  GBUILSHHEHS  SleNaled
DIHFMHGD HH BTN

a. X asd\amei b. &mor sdiser

c. UlLm sgliser d. speour sHTser

e. alemL OFHfwalevensv

The reason for expressing audio power amplification in dB unit is
a. our ear response b. easy calculation

c. no other unit d. to honour Graham Bel

e. Answer not known

@6l oBmed CUmSHUlET VG OGILFUed 61l GMILIUSBSHTET  SHTJ6mID
67601601 7

a. pLweLw GFaluemey

b. erefdled dewidAL  (piguiid

C. Goupl ahH SIS B6LeN6L

d. Ayasmbd CQued-emev S TN ILSBEHTS

e. alemL OFHMwalsvensv

Deductive reasoning enhances the speed and efficiency
problems.
a. in solving b. in creating

c. in initiating d. in imitating
e. Answer not known

LNy & Femevtcemert GousHmBHUD FHpeweTuld  UGHSHHBH6L
Siie] Fper CIbLGSSIS B

a. Smiugded b. 2 mams@aded

C. Fludbd (LPWBFuled d. GumevF GFuleugev

e. alemL OFHMwalevensv

Find the missing number 6, 20, 56, 176,
a. 216 b. 316 c. 416

e. Answer not known

al(BUL L eTewieneiss Hmewis. 6, 20, 56, 176,
a. 216 b. 316 c. 416

e. alewL OFflwealsdensy

4Y3NC&9BLP*D=1TM@2E#7%VFGSH5 In the above
sequence which of the following will be exactly in the middle

between 9 and $?
a.= b. 7 c.D d. M e. Answer not known
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GG o siten GamLMed 9 wHmd $ awB 2 _prIBEDHEG S Guw
gflwrs BGaI6L aUBD 2 mIMUS SHT6HH.
a.= b. 1 c.D d M e. alenL OafNualsvenev

How many ordered pairs of natural numbers (a,b) satisfy a + 26 =
1007

a. 33 b. 49 c. 50 d. 99

e. Answer not known

a+ 26 =100 ee1 eumBLTG eThHener Buied elewide euflengsd Gmmge (a,b)
o 6iTeNgl.

a. 33 b. 49 c. 50 d. 99

e. alewL OFfwalsdensv

A can finish a job in 3 days whereas B finishes it in 6 days. The time
taken  to complete the job together is days

a. 2 days b. 2%2 days
c. 3 days d. 3% days

e. Answer not known

A eaauaT @@ Geuemevenul 3 BT &eMed B ereileuT 6  Hreiserflenid
(WPIQLILTT. 6T6eol60, SHaUbD QRIBTEF CFiha DibhdH Geuemevenul
BT6eTH6I60  (LPIQUILIT.

a.2 B &el b. 2Y2 mm e

C. 3 BT el d. 3V2 mm e
e. alewL OHflwalsensy

If 15 men take 40 days to complete a work, how long will it take if 15
more men join them to complete the same work?
a. 30 days b. 40 days

c. 25 days d. 20 days

e. Answer not known

15 oeniset @  GCoumevenwl (Pdd 40 BT &6T 6IBHIHIH OFmeiteulT
aTeollen, SlaUTHEBL 6 Ged 15 oeisel CaFibeHTe0, DI6%H GeausmevwiTeng)
(PIQUI  6TSHHME0T  [BTCITEH6IT  HEHLD.

a. 30 mpIL e b. 40 mm el

C. 25 BT &6l d. 20 mm sl

e. alewL Ozfwalsdensv

The perimeter of a triangular plot is 600 m. If the sides are in the ratio
5:12:13 then find the area of the plot.
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a. 11000 sq.m. b. 14000 sq.m.
c. 12000 sq.m. d. 13000 sq.m.

e. Answer not known

Qb (WHCxmemt augalevmen LoeneTule S&mmene] 6005 SIHe LISHBHIS6T 5
12 : 13 eeip al&HHFH60 2 slTenien 6leled Dibhd  Loenestulledr LITLIL

HITCUITb.

a. 11000 &.16 b. 14000 &.8

c. 12000 &.6 d. 13000 .8

e. alemL OFHfwalevensv

The sum which amounts to Rs. 2662 at 10% p.a. in 3 years
compounded yearly is

a. Rs. 2,000 b. Rs. 1,800 c. Rs. 1,500

d. Rs. 2,500 e. Answer not known

10ep et Ul lguiled SLeWIBHESTMH (WM Ul ly SHewIbSHIL UL LTeL 3
S eT([HB6iTe0 GTIMB SIF6VTIH hH 2,602 P DIHHMSHGLD.

a. . 2,000 b. . 1,800 c. ep. 1,500

d. em 2,500 e. alenL Gxfwalsdenev

The population of a town is increasing at the rate of 6% p.a. It was
238765 in the year 2018. The population in the year 2020 is

a. 268376 b. 268276

c. 268266 d. 268366

e. Answer not known

QH BIJHDH HH6T CHTnd HeiBHG 6 aipd DFHafbdngm. 2018
D eIl WHH6T CFHTend 238765 b HbHIHEH. 2020 YD 6N 6T
0SB OHTENHEMUIDH BHTCITS.

a. 268376 b. 268276

c. 268266 d. 268366

e. alewL OFflwealsdensy

The monthly salary of A,B and C are in the ratio 2:3:5. If C's monthly
salary is Rs. 1,200 more than that of A then find B's annual salary.

a. Rs. 24,400 b. Rs. 24,000

c. Rs. 14,400 d. Rs. 14,000

e. Answer not known

A, B wppid C e wrg eaduibd aldsd 2:3:5C a1 wrg eafhub A
wWer g eaFHuigbmas ol e 1,200 oiFHsd  eefsd B 61 oo
oM GUID  6T63T60T?

a. . 24,400 b. ep. 24,000

C. @h. 14,400 d. ep. 14,000
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e. alewL OFfwalsdensv

If §A=75% of B, then A : B is

a.1:1 b. 9:8 c.8:9 d.10:11
e. Answer not known

A-eir %LII'SJ@LB B &1 75% b gwib eefled A : B etaiug

a.1:1 b. 9:8 c. 8:9 d.10:11
e. alemL OFHfwalevensv

What is the smallest 5 digit number that is exactly divisible by 72 and
108?
a. 10072 b. 10216 c. 10152 d. 10108

e. Answer not known
72 wBmid 108 &@lul  eTewidenmed FWTES UGULSIIQU WISFHABIW 5
B®6v&H&H 616001

a. 10072 b. 10216 c. 10152 d. 10108
e. alewL OFflwealsdensv

What is the greatest number that will divide 62,78 and 109 leaving
remainder 2, 3 and 4 respectively?

a.b b. 13 c.15 d.17 e. Answer not known

62, 78 1B@IDb 109 8 aGHH WopGw 2, 3 wBpID 4 & BHHTH
OQasmhH@D WHI6LMm QUTHIS SHyenll 666 ?

a.d b. 13 c.15 d.17 e. el O felseneo

When 60 is subtracted from 60% of a number to give 60, then the
number is

a. 60 b. 100 c. 150 d. 200

e. Answer not known

@ eaewienier 60% @elmbxH 60 méd sWHHT0 60 oL s eefed
SbGH etewr G

a. 60 b. 100 c. 150 d. 200

e. alewL OFflwealsdensy

If 10% of A is equal to 12% of B, then 15% of A is equal to what
percent of B?

a. 81% 18% c. 6% d. 3%

e. Answer not known
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A et 10% eesiugy B @eit 12% gwid etafled A a1 15%, B Ser 6bs
FHAHHHMBG &FLOID?

a.81% 18% c.6% d.3%

e. alemL OFfwalevensv

Chennai 5th water reservoir is being built in

a. Poondi b. Thiruvallur
c. Cholavaram d. Redhills

e. Answer not known

OCgaiemenuier Seugl BTHCHHHD UL LB

a. L6y b. Fmeueitemeu

c. Gzmenmeuyid d. GsmiGesLD

e. alemL G flualedensv

Three language formula was adopted in the education system of
Tamil Nadu in the year?

a. 1975 b. 1965 c. 1985 d. 1970

e. Answer not known

SIS Hevald FILSHH cpaipl OLmd gBmis OlsTemil  SiLei[H

a. 1975 b. 1965 c. 1985 d. 1970

e. alewL G fuwialsemev

The programme of support to Training -cum-employment (STEP)
was launched in 1987, for the welfare of
a. Youth b. Women

c. Differently abled d. Students

e. Answer not known

1987 60 Oamimsiiu’ L, Gsuemeveuruiti] wwBmId LWIBHSETRr DHT|S
SHULLD, UTHESTEN HELHHIL L LD?

a. BN6NEhTHEI b. Guemigsaeir

C. LOTBXISHIMETTeMH6 d. wremrelTEeNT

e. alewL G fwalsdenev

Match List I with List II and choose the right answer :
ListI List II
A. Cradle baby scheme 1. Take care of economically backward
women
B. Service homes 2. Empowerment of rural women
C. "SAKHI" 3. Save the girl children
D. Mahila Shakti Kendra 4. Support women affected by violence
A B C D
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4 2 1
e. Answer not known
afleng I o eaflos e Lear OCuimss gflwmer  alenenwl
GxMhOHBHSH:
aifleng 1 afleng 11
A. Qamlyed GWbmae SHLLd 1. QuImeTeTISHHe0 LlSiHnhidueern
OLIGITHMGT  LITHISTLILIG
B. Gemau B)6060BIH6N 2. Sgmoliys QUETTSEHHEG DISHSTTLOGTILIL]
C. &4 3. OUeT GHLWHMSHHEMEN LITSHISTLILIG
D. wd&ent géd Gsbaym 4. UGTI(LPEMBUWITEL UTH &SI L
QUENTIHEDHSHEG 2 _Hoeudl

A D
a. 1 3
b. 2 3
C. 3 2
d. 3
e.

4
alenL O flweailsbensv

Consider the following statements regarding self respect marriages
advocated by Periyar.

Bring out the statement which is not a part of self respect marriages.
a. Marriage-conducted without a Brahmin priest

b. No religious ceremony in the marriages

c. Took place in the presence of a Government Registrar

d. Ooth taken by the bride and bridegroom .

e. Answer not known

QuilwnT  oaflds  swwoilwmmg  FHpweomiber  uBslul  LeTeu(hd
CFTBOMTL TeHemer BH6U6NHBH6LD.

gwioflwmensd S HweannHCahTh GHTLTIveTs CFTBOBTL®mT alendsea|b

a. Ugmoer LGITEHST E6060THI BHLHSLUILILL .

b. abs WHFFTN] QUPSHBBEIBEHID LISTLBBLILL 61606m60

C. o&al uFHeurenT (eitellensouled HewL OCILIBBSI

d. wewiosesT OBMID eWIDH6T 2 WIFHCWTH aTBHHIS CBTewL 6T

e. alewL G flwailsdenev

Arrange Chronologically
i. Sadlar commission
ii. The Raleigh Commission
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iii. University Grants Commission
iv. Radhakrishna Commission

a. (ii), (i), (iv), (iii) b. (i),
c. (iii), (i), (ii), (iv) d. (ii),
e. Answer not known

STeu(pemmliLly  aufleng LB SHHIsH:

1. gmieoT &

ii. Oyedd G

11l. LU6LHMEVSHIND HF [HOMBDH G (LD

V. @ITHTEH(HOemI6 (& (1D

a. (ii), (i), (iv), (iii) b. (i), (ii), (iv), (iii)

c. (iii), (i), (ii), (iv) d. (ii), (i), (iii), (iv)
e. alemL G flualedensv

(1), (i), (iv), (iii)
(1), (iit), (iv)

Consider the following pairs :

I. Gopala Krishna Gokhale - G.A. Natesan

II. Vijaya Ragavachari - Lala Lajpat Roi

III. V.O. Chidambaram - Subramaniya Siva

IV. T. Rengachari - V.S. Srinivasa Sastri
Which of the Pair/Pairs given above is/are incorrect?
a.land IV only b. IT only

c. IV only d. I and III only

e. Answer not known

BIDHHEWIL BT HM6TH He6:

I. Gamumev Hmagent BxsraBev - o9l.¢J. HOL Feor

II. elguwi prseurgammuwinit - 6UMGUT 6URLIS JIUl
III. aie_.fzibuyd - &lyeniul Feur

IV. 9. phisrgamhwm - afl.etord. FaollourFein Fmerdg
GuoBseni. Benentulled 615 HeUMTer?

a. lommib IV ol @G b. II w @G

c. IV ol @b d. II wpme I wl @G

e. alemL OFfwealeoensv

Consider the statements on the middle Palaeolithic period and pick
out the correct answer.

(i) The tools are smaller in size

(ii) They are found at Attirampakkam, Gudiyam and Vadamadurai
(iii) Urn burials have been found

(iv) Cultivation of food plants is an important trait

a. (i) and (ii) are correct b. (ii) and (iii) are correct

c. (iii) and (iv) are correct d. (i) and (iv) are correct

30 | Page 044-24339436, 42867555, 9840226187




e. Answer not known

Bl UphISBETeoD uBpslw  Uaieumd CFTBoprLiTeemen SHealeldbs. L6
gilwmer Lglevdmen CHTHOHBHH 61(LDSHIS

1. smalsel Slemaled Fnsluleo

ii. SFHIMOUTESID, GQUID, ILIDGIDT S BLmisellsd  BLbHSD
SIBDAUTTUIFFUT6D SHlewL SHFl6iTerent.

iil. (Pp@HIDSHH6T HTHNHET HewL HIHl6iTeren

IV. o_ewreyiuuliraset LUl L eorT

a.iwmm il & b. ii wo@pmd iii &

c. iii @@ iv & d.i wmpid iv &M

e. alewL G flwailsbenev

Which racial group authored Indus valley civilisation?

a. Aryan b. Dravidian

c. Non-Aryan d. Pre-Aryan

e. Answer not known

b Bddal L FhapiOeuel mHrafasshadlener 2 (Heursddluig?
a. gyflwir b. SprelLf

c. flwim IeLeOTHTT d. wpomsur oyilui

e. allewL  OFflwalsvensy

and and error's tripletyranny
is oer. Their very names for aye extinct, then pain shall be no more.
In this Thirukkural what three things that far away from human
being?
a. Lust, Innocent, Dizzy
b. Envy, Aspiration, Innocent
c. Nimpiri, Dizzy, aspiration
d. Dizzy, Aspiration, Lust
e. Answer not known

BTOWD s H6sBn Grmul.

a. Mo, Oeu@el, LuIsbHID
b. &psstE, Seut, Geuger
C. ML, wIssID, SieuT

d. wW&EHID, SeUT, STIOLD

e. alemL G flwaledensv

Which is the central theme of the Novel "Sool"?
a. Caste discrimination b. Water problem
c. Women empowerment d. Child marriage
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e. Answer not known

“@60° BTeUeVIel MIDUID HWH 617

a. gmHiuTGUT®H b. sewiewit LlyFfenen
c. waefT Gubur® d. Guwbmss FHHewd
e. alewL Ofwalsdensv
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